Advanced Placement Calculus Name

Copy original problem. Per Date
Convincemethatyou understand the concépt

No Calculators.

Chapter 1 Exam

I Given: f(x)=3x"+2x. Determine tha-intercept of the tangent line td(x) at (-1,1). (10 pts)
I I Solved x g0 . Graph the solution set ommeell labelednumberline. Be especially sure that the
reasons for your steps are very clear. (10 pts ea)
X—2 5
Q) |71 b) 7= <3 c) |2x+|x-3||<2

[1l  Using thedefinition of the derivativashich usesh . 0, find (x) given f(x) = . 1 . @op)
X +
IV Given: f(x)=|2x-3|-|4-X| (25 pts tot)
a) Graph the solution tof (x) = 8.
b) Rewrite f(Xx) as a piece-wise function.
c) Sketch the graph of(x) on a standard cartesian axis.
V Find the following limits (5 pts ea)
14l . X*+27 . Ax+4-2
lim *—2 | lim X2t~ <
a) x-> 3X—2 b) xlrrl3 X+3 C) xIInO X
x> +1 2
d Ims o e) lim (1- 30"
Extra Credit -------------=------m-mmm oo 5 PLS m-mmmm
C f th t: 1:E+E d l:l-{-i
onfirmthat: 5 =3+ and 5=+,

1 1 1
Represent these three fractions in a similar mannfr,: 5' &



